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INFE R Rl 29 58.72 22.15 0.95 22.3 Ll -2 58" % 19 75.13 34.14 0.96 22.1 1 Pprfessp 24 10 41.50 14.66 1.25 22.7
2 |p{esFp e g 26 52.65 23.84 1.10 20.0 2 |pfesmp e g 16 63.27 31.86 1.02 18.6 205 F ~ A5 iR 10 41.50 11.02 0.95 22.7
3|k 16 32.40 16.84 155 12.3 3o 14 55.36 31.59 141 16.3 ) EXER TR 3 12.45 9.60 0.53 6.8
41 ~ B oo 11 22.27 7.44*-  0.61 8.5 N L R CLE L 8 31.63 13.16 0.85 9.3 4%~ B R 3 12.45 2.79*%- 034 6.8
5]+ PR 4 15.82 5.10 0.91 3.1 5| % 5 19.77 9.05 1.40 5.8 5|~ %% 2 8.30 4.50 112 4.5
6 |- 5 5 3 12.45 9.60 0.53 23 6 = %% 4 15.82 8.01 1.22 4.7 6 |ram 2 8.30 4.35 3.36 4.5
7 =% 6 12.15 5.79 0.92 4.6 7% P GRS ) e 4 15.82 5.10 0.91 4.7 7 =% 2 8.30 3.65 0.62 4.5
8|5 ® 6 12.15 5.20 0.93 4.6 81d & m 3 11.86 7.01 1.83 35 8l & R 2 8.30 3.44 1.87 4.5
9| & & 2 8.30 4.50 112 15 9|2 ¢ et & L KK 3 11.86 5.26 8.08* 3.5 9|r 2 8.30 1.62 3.60 4.5
1014 s 4 8.10 4.10 142 3.1 |10 & &% 2 791 4.09 0.47 2.3 |10)Ed qod w i 1 4.15 2.40 1.65 2.3
feemisirn [ 2 wes 276 om w7 | wescesenm | 8 sies 1518 o 93 | [restemarm | 7 2005 ese o0s se
11764 4 8.10 3.54 2.75 3.1 |11 2 791 3.37 2.31 2.3 |11} fort S8 F K 1 4.15 1.89 22.48 2.3
12|20 & k= B 3 6.07 2.83 115 2.3 122 4 fr il @ 25 R 1 3.95 2.04 1.07 12 12]%% = 7% 1 4.15 1.89 0.97 2.3
13|24 2micd & 4 K % 3 6.07 2.54 3.24 23 13| A & HT B 1 3.95 2.04 0.66 1.2 |13)s % 1 4.15 1.55 0.35 2.3
1472 6 4o @ g 2 4.05 2.08 1.28 15 |14 1 3.95 2.04 0.56 12 |14)m etk g 1 4.15 1.00 1.23 2.3
1509 2 % 2 4.05 1.96 0.70 1.5 1511 %% &% 1 3.95 2.03 5.78 1.2 155 & 5 1 4.15 1.00 0.87 2.3

Mmoo L5 RRS dRAEE P A vl 3449,384.54 0 §1425,290.54 4 4224,094.04 -
2. &% i+ 5= & ( Standardized rate) % 220002 W.H.O, & f % v #8084 5 A% o Tk ) 201057 = FRF R BHRE L = 500 T ) 2R 52 FRF G 0§ 1 SR 5= 5 (070.05)
3. #& % i 5+ = 1t ( Standard mortality ratio, SMR) o {3 it v = ib=F 5= g / Y 7= Peo XA T EF M 55 BFF R (0=0.05) -
4. F R KR A AR FLAFAL ~ poFIR A ¢t
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % i (ICD-104 #f) A = & Fe= % =k %

T R > 41 247.35 139.81 1.08 .00.0 1 Rk 7 30 351.37 202.86 122 .00.0 h R 7 11 136.85 77.63 0.78  .00.0

LA e F) 35 211.15 119.34 1.18 85.4 Ry 26 304.52 178.58 1.33 86.7 L R T 11 136.85 77.63 141  .00.0
#2578k 10 60.33 36.41 1.22 244 1|prfosmp 23 5 58.56 37.05 1.10 16.7 V54~ 25 %% 5 62.20 36.47 1.83 455
2 | fesmp 2 5 30.16 18.71 0.78 12.2 205 # 2§ E o R 5 58.56 36.37 0.89 16.7 2|~ a5 2 24.88 17.50 1.18 18.2
315 &% 5 30.16 11.90 2.89 12.2 3| R 3 35.14 24.18 0.97 10.0 313 % 2 24.88 9.63 2.80 18.2
41+ 155w 2 24.88 17.50 1.18 4.9 4165 R® 3 35.14 22.58 2.34 10.0 4%~ B R 1 12.44 9.86 0.47 9.1
5w 3 18.10 12.25 0.96 7.3 513 % 3 35.14 15.29 2.90 10.0 514 &% 1 12.44 4.16 1.97 9.1
6% % 3 18.10 12.03 2.29 7.3 6| &k 2 23.42 12.94 4.66 6.7
M EL R G 3 18.10 8.80 0.62 7.3 Tl&% ~ £ 5o R 2 23.42 9.48 0.73 6.7
8|« i 1 12.44 4.16 1.97 24 8]® A SRRy 1 11.71 7.39 11.06 3.3
It & ke & 2 12.07 5.80 2.90 4.9 9 | 7% % 1 11.71 6.64 3.72 3.3
10]% 7| 19 (R 55O Ty 1 11.71 5.13 0.82 24 110)¢ i 1 11.71 6.64 2.10 3.3

H o obd &g 5 ) 6 36.20 20.46 0.71 14.6 Hp2bd X g F) 4 46.85 24.28 0.80 13.3 Hig 2t L R 7 F) 0 0.00 0.00 0.00 0.0
1) oo 1 6.03 3.72 5.67 24 N 11p=%% 1 11.71 6.64 1.08 3.3
12) 76 % 1 6.03 3.49 231 24 |12} 1 11.71 6.59 381 33
13| 7 %% 1 6.03 3.37 2.57 24 |13]% AR HEE O B 1 11.71 5.13 0.82 3.3
145 & 1 6.03 3.37 1.27 24
15] %% %% 1 6.03 3.37 0.57 24

ot Lt E mE Y A o 3416,575.504  §448,537.54  ~448,038.0+% -
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. #& % it > = 1L ( Standard mortality ratio, SMR) o &% it 5= L= 5= fc / WY 7= o XA T E 0 B
4, FTH KR A AR FLA A P oAt A T gt
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=|  acp-104 ) A ek p2 & e =l acp-104 %) re & g & % || acp-104 ) Al A o %
54 e 7 86 22758 14025 112 i1 g 7] 26711  182.73 .00.0 st Ao ] 35 18721 118 .00.0
g 72 10053 11465 116 L 256.64  175.86 96.1 T g 30 16046 128 857
1 |sgosep 25 4 14 37.05 2256 1.09 N Y T 62.85 41.74 235 |1lis - tqs4emn 6 32.09 105 171
2|en  syoerg | 13 34.40 1931 135 - 47.14 31.36 176 | 2|es 2 mqoarn 5 26.74 112 143
3| sen 12 31.76 2006 185 L5 s 38 fors 41.90 27.99 157 |3|eprin 4 21.39 107 114
alis - tiapma | 12 31.76 1971 073 FE A AR 31.43 21.97 118 | 4|c 3 16.05 11.03* 86
5| s 4 21.39 1730 107 1R 26.19 17.74 98 |slewn 3 16.05 176 86
6|s % 7 18,52 1169 200 5k 15.71 11.01 59 | 6|m s frbimson 2 10.70 38 57
7 ;;‘}V L B 10.70 2.87 2.50 sk 10.48 12.30 39 |7 % 2 10.70 132 57
8 |4 1o (A 2 10.48 5.81 0.94 R R 10.48 5.81 39 |g|fFErmEAmASL 10.70 250 57
¥
9|4 3 7.94 537 110 " R 5.24 297 20 |9 sqerer i 2 10.70 050 57
10| 565 3 7.94 339 086 T 5.24 297 20 |1ols ¢ 1 5.35 144 29
Hezaagprmn | 14 37.05 2560 092 A & g B 10.48 6.87% 3.9 H AL s 5 26.74 080 143
1l 5w 1 535 430 144 115 4 1 5.35 143 29
12| 2 5.29 630 216 122 ampenetin| 1 5.35 361 29
13|/ 4 fep o 2 5.29 424 248 13|t 2o 1 5.35 181 29
14|50 2 2 e 2 5.29 258 146
18] s 5 1 2.65 216 062
W Gt 1.4, Bid BRE? A v B 3°37,789.0% 9 1210,003.0% 18, 696.0~ -
9. B3 1 7~ % ( Standardized rate) % 12000 W.H.O, & % 4 r & &8 5 JIE « Tk | £ 7 0 5 2 587 ¥ K004 P THE | AARE A FEFENE U MEE L A F(0=0.05)
3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) - 4% % ft P e/ W e XA T B F 3 HF 2 F(0=0.05) -
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
54 e 7 98 21222 11705 089  .00.0 w4 g 5] 65 27016 16413 094  .00.0 4 g 7 33 14920 6907 079  .00.0
isern | s sie0 s o095 es7 | |emerm | 57 23691 14103 0% 877 | |-<merm | 32 ia4es 6676 09 970
1lis-tissmn | 23 4081 2892 097 235 [1lis-tgsems | 15 6234 3872 095 231 |1liw - iiseens 8 3617 1948 099 242
2 [seqermp 5 5 19 4115 2139 103 194 | 2|eqesen i 13 5403 3051 102 200 |2|sfesen i 6 2713 1114 102 182
3leprsg 5 2261 1260 104 51 |3|ey.isqenrs 8 3325 2160 104 123 |3|epsum 5 2261 1269 104 152
alen s gqenmg | 10 2166 1225 071 102 |4|ces 6 2494 1481 070 92 |4|wwws 4 1808 716 163 121
5] 7 1516 866 080 7.1 |5|awm 6 2494 1412 167 92 |s5|iwm 3 1356 594 138 91
6 s 6 12.99 674 161 61 |6[wws 2 8.31 556 077 31 |6ley-imiarn 2 9.04 231% 031 61
7 [sen 6 12.99 654 119 61 |7|i#% 2 8.31 497 068 31 |7|5wmwm 1 452 275 113 30
8l 5 1083 561 099 51 |8|sms 2 8.31 445 217 31 |8|mAfenmsan 1 452 241 149 30
] ERETE STV 2 8.31 348 059 20 |olwspcEma 2 8.31 348 059 31 |9|cws 1 452 145 248 30
105 7 s 1 452 275 113 10 |10fses 1 4.16 279 071 15 |10f i 1 452 145 069 30
eiaswerm | 14 sz 1800 064 143 | |eescomesm | 8 3325 2310 087 123 | |seacemesm | 1 as2  230% ol 30
11fer i 1 452 145 069 10 |w|ger-voremgian] 1 416 231 917 15
12| 5 = 2 433 232 18 20 |12} 1 4.16 197 232 15
13] 53 1 2.17 126 047 10 |13|euses 1 4.16 197 134 15
Wpn v aempin| 1 2.17 118 699 10 |u4 ;ﬁ”‘f VIR (L 416 151 2480 15
15|/ o fotr m 1 2.17 118 093 10 15[ s cme g 1 4.16 151 082 15

sooanc L5 R ARE ¢ A vfic 3146, 177.54 9 1224,059.54 %122, 118.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10%~ #f) A B i v K Fv =l % | (ICD-10% #g) A B 7= & = F Fv =l % | (ICD-104 #f) A B v K = Fv =t %

54 e 7 83 21418 11909 098 .00.0 4 g 7 48 24048 14889 090 .00.0 st Ao ] 35 186.24 9051 110 .00.0

g 67 17289 9553 102 807 L 42 21042 13359 095 875 T g 32 17028 8237 130 914
is - tisfrn | 29 74.83 3927 160 349 |1lis  rgugenm | 17 85.17 5222 140 354 |1lis - rgagers | 12 63.85 2861  195% 343
2 [seqermp 5 5 12 30.97 1982 085 145 |2|sqepzig 8 40.08 2615 081 167 | 2[sgesen mia 4 21.28 1376 092 114
] ERTEE 4 21.28 1323 103 48 |3]- s 4 20.04 1421 058 83 |3|+psim 4 21.28 1323 103 114
4% SR GO B 3 15.03 1033 123 36 |4|smspcmEn 3 15.03 1033 123 63 | 4|ews 4 21.28 647 217 114
] PR 5 12.90 6.24* 047 60 |5|es . imars 3 15.03 766% 051 63 |5|im 2 10.64 457 124 57
6 | 5 12.90 544 130 60 |6l|reazamen 2 10.02 726 218 42 |6|ww i gqenmn 2 10.64 457*- 041 57
7| sem 4 10.32 726 057 48 7] 2 10.02 560 197 42 |7|ews 1 5.32 362 332 29
8ls % 3 7.74 43¢ 079 36 |8lsus 1 5.01 395 096 21 |8l 1 5.32 328 255 29
9|+ v um 1 532 207 137 12 |9li s 1 5.01 328 045 21 |olsewn 1 5.32 297 137 29
10 ; ;‘}” Gl I 532 129 118 12 |1o)wws 1 5.01 203 050 21 |1ofsmm 1 5.32 129 192 29

Ausscgarm | 16 4129 2356 085 193 AL g T 6 30.06 1530% 069 125 M A g ) 3 15.96 8.14* 042 86
115 2 & e 2 5.16 377 132 24 |ulrss 1 5.01 255 g27 21 |u ; ;” PEAREEL 5.32 1.29 118 29
12| 7 2 5.16 309 237 24 |1omaperegw 1 5.01 255 315 21
k| B 2 5.16 266 114 24 |13|vus 1 5.01 255 183 21
1455 2 5.16 262 129 24 |14|sFm 1 5.01 255 134 21
15 1 2.58 179 102 12 |15|mgen v g 1 5.01 230 180 21

soosr o LR g okRE S Ao fic 3138, 752.54 9 119,959.54 & 4418,793.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #g) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %

T R > 106 235.48 126.03 1.05 .00.0 1 Rk 7 65 281.60 166.28 1.02 .00.0 4 R 7 %] 41 186.94 88.20 1.09 .00.0

LA e F) 91 202.16 110.06 1.12 85.8 Ry 59 255.61 152.19 1.09 90.8 L R T 37 168.70 83.00 127 90.2
#2578k 28 62.20 31.61 1.28 26.4 IR NN R 18 77.98 44.83 1.23 21.7 425847 % 10 45.60 20.61 1.35 24.4
2 | fesmp 2 13 28.88 16.15 0.77 12.3 2|%% ~ LB o PR 9 38.99 23.28 1.30 13.8 2 P R 7 31.92 14.44 1.38 17.1
Kl EXEE TS 6 27.36 13.86 1.27 5.7 3o 8 34.66 20.83 0.97 12.3 Kl BRSO 6 27.36 13.86 127 14.6
4%~ 2 iR 12 26.66 15.16 0.97 11.3 4 e p g 6 25.99 17.63 0.50 9.2 415 % 4 18.24 11.50 2.14 9.8
51 8 17.77 10.62 0.93 75 5= fujnﬁn\(;&gﬁvﬁa)% 4 17.33 9.35 1.39 6.2 5|5 - 25 fuzri 3 13.68 7.77 0.55 7.3
615 % 8 17.77 9.51 1.79 75 615 % 4 17.33 8.62 1.52 6.2 6 %R 2 9.12 3.99 0.91 4.9
7157 Hﬁ{(%@iﬂﬁz):}{ﬁ 4 17.33 9.35 1.39 3.8 Tleg® 3 13.00 8.43 0.88 4.6 AEEE ] 2 9.12 3.49 10.48* 49
8|&: % 5 11.11 6.08 1.39 4.7 8 14 Fi% 3 13.00 7.64 3.39 4.6 L ERCE N R S 1 4.56 2.66 142 24
9 1% % 4 8.89 5.67 0.86 3.8 9 |5 %% 2 8.66 6.76 0.82 3.1 S B 1 4.56 249 1.13 24
100 # *Fpie 3 6.66 3.93 2.80 2.8 10} &% 2 8.66 4.83 4.86 3.1 10| @ A fodi 2. 3% 1 4.56 2.19 153 24

Hois bt A R F) 15 33.32 15.97*  0.76 14.2 Ho 2t & o 5 F) 6 25.99 14.09 0.65 9.2 Hopozbt A g F) 4 18.24 5.19*%  0.48 9.8
11) % & 5% 1 4.56 1.30 0.71 0.9 11|z A & k= & 1 4.33 2.23 0.91 15 11|12 ¢ 2 mfct © 4 K B 1 4.56 1.30 2.93 24
12| ve% 2 4.44 242 4.47 1.9 12] 5 5 5% 1 4.33 2.01 0.81 15 122§ fo 8 i 258 1 4.56 1.30 2.34 2.4
13|t A & <= B 2 4.44 242 1.12 19 13]°r & % 1 4.56 1.30 0.71 24
145 & 1 2.22 1.30 0.48 0.9
15|/ AL frdi fo 50 1 2.22 111 0.95 0.9
ot LR R E Y A v ofie 3245,013.564 ¥ 4223,081.54 4 4421,932.0+ -
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> = R OF L RN ;= R OF gL RS » = R 7 S AT FRARE
i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % | (ICD-10% #f) A = & Fe= % =k %
“h e F 53 230.35 109.05 0.83 .00.0 74 e~ F 33 272.23 147.41 0.80 .00.0 T R F) 20 183.72 67.62 0.85 .00.0
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414 &% 2 18.37 14.42 2.54 3.8 415w 3 24.75 15.11 1.45 9.1 415 B s R 1 9.19 8.24 0.39 5.0
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6 | fodl &R 3 13.04 7.75 421 5.7 6 | A fod o o 2 16.50 8.40 8.70 6.1 Bl ERCE SEN A 1 9.19 5.00 218 5.0
7 |5 %% 3 13.04 4.38 1.01 5.7 HEX T 2 16.50 7.45 1.27 6.1 7|8 F % 1 9.19 4.18 11.06 5.0
] ERER T2 1 9.19 8.24 0.39 1.9 8| ¥ font & 5 ¥ &% 1 8.25 6.85 16.57 3.0 8 P P B R 1 9.19 4.18 0.29 5.0
9|+ ¢ am 1 9.19 5.47 2.16 19 9 | %% 1 8.25 4.59 2.13 3.0 9 |55 1 9.19 2.40 2.29 5.0
10)2Lim 2 & = B 2 8.69 4.46 1.68 3.8 10|t 4 & < R 1 8.25 4.59 1.34 3.0 10|~ »=m 1 9.19 1.42 4.29 5.0
H o obd &g 5 ) 12 52.16 22.65*- 0.61 22.6 H bt X g 5 F] 3 24.75 10.80*- 0.22* 9.1 . T 4 36.74 8.54*- 0.58 20.0
1@ A fedc o 50k 2 8.69 4.20 3.34 3.8 |11)seem 1 8.25 4.28 1.14 3.0 11|z g% 1 9.19 1.42 3.73 5.0
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13] v ek 2 8.69 3.16*- 041 38 |13)# A G A 1 8.25 2.34 0.46 3.0
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2. #%# i 7= 5 ( Standardized rate) %2 2000 F W.HO. & % 4 v #dr @4 5 A% o Tk | LR B » = FAREFEHMEEEL > 55 Tk A7 RE L~ = FRFF 0 BHRE L = 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %
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4 g 9 27.76 16.21 1.24 86 |4les - isinrn 5 29.21 9.71 0.68 76 |4l prsn 3 19.61 11.46 0.79 7.7
L) BN 3 19.61 11.46 0.79 29 |s5]|: % 4 23.37 10.27 1.40 6.1 | 5|=wn 3 19.61 6.86 1.26 7.7
6% 6 1851 7.36 121 57 |efsap 2 11.68 4.43 154 30 |s ;;*"" R 13.07 6.83 201 51
FEHEENEAP TS .. o
7 4 2 13.07 6.83 2.01 1.9 |7]|2rtsmem 1 5.84 3.12 0.82 15 | 7] % 2 13.07 3.35 0.93 5.1
8 | 4 12.34 417 0.82 38 |8lagm 1 5.84 2.90* 031 15 | 8]®sm 1 6.54 2.73 0.81 2.6
9|5 1 6.54 2.73 0.81 10| ol mom 1 5.84 2.31 439 15 |9 wom 1 6.54 1.31 3.99 2.6
10} s s 2 6.17 2.36 0.96 1.9 10|55 1 5.84 2.31 0.40 15 |10]tm 4 & <= 1 6.54 1.31 1.26 2.6
2 A g F 16 49.36 16.70%- 0.67 152 o2t 4 g A 8 46.73 17.90 067 121 2L 4 g ) 3 19.61 422*- 039 7.7
. . ) ReWTR O ARA AT R
N P 2 6.17 2.18 1.00 19 |1 i 1 5.84 1.64 23090 15 [ @ TP 1 6.54 0.75 2135 26
s 2R |,\~/;“;;(Hmr/lf 7k
127 pesm 2 6.17 1.81 423 1.9 |12]5mm 1 5.84 1.34 0.69 15 12| 55w 1 6.54 0.75 2.48 2.6
13]5 735 (4 50 A 1 5.84 1.34%  0.27 10 |13 oGO A 1 5.84 1.34%  0.27 15
14| & i % 1 3.08 1.65 0.31 1.0
15] 2 i a;]w% 1 3.08 0.73 13.93 1.0
soosrc L e amE S A v e 3132, 415.04 91T, 118.04 % 4415,297.04 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

1 R F 70 439.53 160.41 122  .00.0 HEF R 7 F 52 604.93 238.24*+  1.45* 00.0 4 R 7 %] 18 245,57 76.63 0.82 .00.0

R i 63 395.58 144.64*+  1.46* 90.0 LK Rt F] 50 581.67 231.70*+ 1.88* 96.2 L R T 18 24557 76.63 157 .00.0
1 Pprfessp 24 27 169.53 62.81*+ 2.75* 38.6 1 Pprfessph o4 20 232.67 90.05*+  3.03* 385 1 Pprfessp 24 7 95.50 35.98 2.04 38.9
205 % ~ L5 E o R 11 69.07 22.24 0.86 15.7 205 # 2§ E o R 11 127.97 47.41 1.29 21.2 ARE 3 40.93 9.63 249 16.7
3|es - 2o 9 56.51 20.40 1.17 12.9 3|4 - 25 frmm 7 81.43 31.49 1.73 135 3o -2 frn 2 27.29 7.56 0.54 111
41% % 5 31.40 7.53 1.83 7.1 4| vk 4 46.53 21.95 1.00 7.7 415 im 2 27.29 2.77 4.68 111
5w 4 25.12 12.16 1.03 5.7 5 IR 2 23.27 12.69 9.28* 3.8 5% 15 5 % 1 13.64 10.80 0.51 5.6
6 |+ 5 5 % 1 13.64 10.80 0.51 14 613 % 2 23.27 5.37 1.30 3.8 6 | 1 13.64 4.47 2.16 5.6
7 Iveh 2 12.56 7.98 8.75 29 7 1%% 1 11.63 6.49 2.81 1.9 T edqod w e 1 13.64 3.36 411 5.6
814 & 2 12.56 1.84 1.74 29 Gl L ek 1 11.63 6.20 5.33 19 8 1% Ay 1 13.64 2.07 12.70 5.6
9 PR R 1 11.63 3.86 0.49 14 914 Fi% 1 11.63 6.20 243 19
10) %6 % 1 6.28 4.25 1.82 1.4 |10)zte 2 & <o = 1 11.63 3.86 151 19

H o obd &g 5 ) 7 43.95 15.76*- 0.49 10.0 Hp2bd X g F) 2 23.27 6.54*- 0.21* 3.8 Hig 2t L R 7 F) 0 0.00 0.00 0.00 0.0
11) § Fp 1 6.28 3.72 2.17 14 |11} PP () R 1 11.63 3.86 0.49 1.9
12| fedr o ok 1 6.28 3.72 2.03 1.4 |12) %% 1 11.63 2.68 2.29 1.9
13)% % % 1 6.28 2.39 0.80 14
1] F 4o 8 23 B 1 6.28 1.79 1.50 14
15|tim 2 & <k 2 1 6.28 1.79 0.89 14

o LB aRE Y A r e $415,926.04  §448,596.54 % 147,329.5% o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4, FTH KR A AR FLA A P oAt A T gt
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£ i 7 <2 + B2
g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 59 401.47 161.61 125 .00.0 HEF R 7 F 37 481.39 218.98 127 .00.0 Eh R 7 F 22 313.84 90.80 120 .00.0
isern w0 mez wwes wae sr | |emeran | % a3 20020 140 919 | |-<mesm | 20 263 814 158 908
INFE R Rl 14 95.26 33.97 134 237 Ll -2 58" % 10 130.11 50.12 1.45 27.0 1 Pprfessp 24 5 71.33 22.63 178 227
2 |p{esFp e g 12 81.65 34.74 1.49 20.3 2| A 7 91.07 58.07 2.10 18.9 205 F ~ A5 iR 4 57.06 20.17 113 18.2
3| R 7 47.63 32.35 212 11.9 3 PR R E 7 91.07 42.99 1.29 18.9 3l - il 4 57.06 6.38 1.30 18.2
4155 ~ B foi B 7 47.63 13.71 111 11.9 4%~ EF ol R 3 39.03 16.87 0.91 8.1 4| 5 2 28.53 14.78 3.53 9.1
5| & & 2 28.53 14.78 3.53 3.4 5 e 2 26.02 11.59 1.75 5.4 51d i 1 14.27 6.80 271 4.5
6 | 3 20.41 7.58 1.34 51 |6laum 1 13.01 5.83 0.70 27 | 6]agfon ¢ 1 14.27 2.68 486 45
A EES 2 13.61 4.68 2.10 3.4 T/ A o o o 1 13.01 5.77 6.07 2.7 I EA R A A 1 14.27 2.68 2.68 4.5
Gl IRRENC = LSk 1 13.01 5.50 0.63 17 8 |5 SR ()R 1 13.01 5.50 0.63 2.7 8% & 1 14.27 2.68 1.00 4.5
MEER 1 6.80 3.39 0.69 17 9 | E W 1 13.01 3.73 2.69 2.7 9 PRy 1 14.27 2.68 0.90 4.5
Y g 1 6.80 3.12 2.38 17 J10)¢ i 1 13.01 3.73 1.75 2.7
freoisarn [0 ez w79 or 153 | |wescimerm | 8 03 1am 060 81 | [wescimesm | 2 s ese o3 o1
11| # E 1 6.80 1.56 243 17
12|72 4 4o 238 1 6.80 1.56 1.86 17
Ytimd &= By 1 6.80 1.56 1.10 17
1415 &% 1 6.80 1.56*-  0.45 17

soosrc L meEaRE S Ao fic 3114,696.04 9 127,686.54 4 4£7,009.54 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4 FH KGR AR BT P RN A T g
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£ [ 7 E2 - E2
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i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %

54 R 9] 96 33042  167.28*+ 115 .00.0 54 7 ) 61 40259 21957 116 .00.0 54 R 35 25176 11542 111 000

S 83 28567  130.93*+ 130* 865 S 55 36299  18583*+ 131  90.2 L ) 34 24457  11226%+ 138 971
il P AN R 21 72.28 30.30 114 219 | 1|sqormp g 15 99.00 48.34 154 246 |1l5#-t5uera 9 64.74 25.09 146 257
2 [rgerp i 19 65.40 29.95 134 198 |2|i# A FF i 12 79.20 36.02 097 197 |2|w3 - igqonrm 5 35.97 16.80 099 143
K] B 9 30.98 17.73 145 94 |3]r s 9 59.40 32.99 146 148 |3 ; ;r Fr|EAP Ty 28.77 19.25 505* 114

FREE AP TS * *
e s 4 28.77 19.25 505« 42 |4]|um 3 19.80 16.32 571 49 | 4]=qern i g 4 28.77 11.92 086 114
5|lan i ygforrg 8 27.53 12.32 074 83 |5|ewwm 3 19.80 9.66 147 49 |5|=wwm 4 28.77 10.27 210 114
6 |sm 7 24.09 9.97 179 73 |6|xwmasame 3 19.80 9.61 314 49 |6|im 4 28.77 9.53 239 114
[l ERIETE 3 21.58 15.33 092 31 |7|smm 3 19.80 8.71 266 49 |7|+pssa 3 2158 15.33 092 86
8l % 6 20.65 10.40 155 63 |8|uw . iuioara 3 19.80 8.37 051 49 |8|wis 1 7.19 4.08 097 29
9 |z 3 10.33 8.42 347 31 |9)vm 2 13.20 10.16 090 33
10| 2 2 <o 3 10.33 4.88 191 31 |04 i 2 13.20 5.65 197 33

T 13 44.74 27.35 067 135 B2 g ] 6 39.60 33.74 057 98 A 1 7.19 3.16% 014* 29
11) 55 5 3 10.33 4.35 175 31 |11esm 2 13.20 4.98 336 33
12|+ 5 % 1 7.19 4.08 097 10 |12)sim 1 6.60 3.27 038 16
13[4 i 2 6.88 2.80 118 21 |13|wem 1 6.60 3.06 302 16
14| w5k 2 6.88 2.25 220 21
15| 5 i % 1 3.44 1.68 038 10

sooan o L REANARE S Ao g 3129,053.54 9 415,152.04 -+ 4£13,901.54 -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -

4 FH KR GEL AT T P4 T




